21 (700) BASAGHIE B (710) SHIE ME : (711) B co @)
o = 3] =
= OH (=) —
a[a [ = e Bl o ow| 3 7! =
st
= A 61,600,000 59,500,000 2,100,000
700
ot AL HI S 29,479,511 29,367,051 112,460
710
g = 28,050,511 28,075,051 N 24,540
711
2 4 HI 1,137,466 1,206,806 69,340
100
ol 2HH| 143,662 135,522 8,140
101
Ol 24 H| 143,662 135,522 8,140
143,662 135,522 8,140{03 FIIH A2 =
oBt4E TaR ol 8.140
d2Y 12,898,730& x4 x 1/12x 100% = 4,300
2H Al Y| 50,0003 x 4% x 121 & = 2,400
MG 30,000& x 4% x 121 & = 1,440
200
2934l 156,956 134,436 22,520
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(700) otx=S Al HI=2 A= Mgt o (711) A4 &
p.S| —
o o ) 3 2 gplu =
= O] A oM = &3 9
201
et A | 133,956 111,436 22,520
107,896 85,376 22,520 S=s29H|
=32%H|
Q% (280 ) &EI|.SM2B(AH)
(30,120,000¥ ) - 21&(27,600,000& ) =
=S FLAE X2 20,000,000& x 14! =
300
AAOIA 836,848 936,848 A 100,000
307
012+ & 750,000 850,000 A 100,000
750,000 850,000 A 100,000

2) - J1&(100,000,000&)




2 (700) SHETAIHHIE B (710) YAHIE Mg (713) X el =l = ¢ (208) SRR (649 : ®R)
2 = A OH | g = ) Ak = J =
P = O & =Rl & w| FA A & & | =
713
2l & 22,107,354 | 22,087,354 20,000
200
k] 1,966,667 | 1,946,667 20,000
208
o1 o | 30,900 10,900 20,000
20,000 0 20,000{01 o1&
o PEEZZOLHIAAL QALY BHEEEA B
20,000,000 x 141 = 20,000
715
2prerelyl 4,805,691| 4,780,891 24,800
200
293l 353,931 329, 131 24,800
201
et eyl 158,391 138,391 20,000
140,363 120,363 20,000{01 At 22l
20114 SHECANY ZAAA 242 20,000,0008 = 20,000
202
01| 168,840 164,040 4,800
168,840 164,040 4,800{01 =LHZ S0
oS+ EBIIY FYNL 1S
2% (4,200,0009) - JI&(2,100,0008) = 2,100




= (700) ot At bl = (710) S HHIE N& - (715) gt S : (202) o4 chel @ ®JH)
s =2 J| | o 3 _
= OH (=) —
P = O & Sl & w| =2 o &k = pJ =
dot=Egs A MOILE Z26D,0008 x5% x3 x33 = 2,700
730
S8 547,000 410,000 137,000
732
FSPIEX-IENP- PN 547,000 410,000 137,000
732-2
INEx3eE3 547,000 410,000 137,000
547,000 410,000 137,000 LEot=2H(09BTL) HHIAISE (FEHIS2) 2 0EX2 B3
137,000,000& x 14 = 137,000




2 (100) MHEXEXE & : (120) JtsS&dI XAt Mg o (123) A S 2 (401) AMEHIS (e @ &)
ot = 5] 2] 2 g _ ]
2 @kﬂ@ = o & oA o A o = 2 o &k = Il =
100
R=PSPVES 32,120,489 30,132,949 1,987,540
120
Jts & | XHat 5,524,163 4,325,963 1,198,200
123
HE 20,000 13,000 7,000
401
AEHIS 20,000 13,000 7,000
20,000 13,000 7,000{01 Al&d]
oEdlolx=xel & 2els HetA XNSAX
A A (20,000,000 ) - J1& (13,000,000 ) = 7,000
124
== 4,899, 193 3,710,993 1,188,200
401
A&HIS 4,899, 193 3,710,993 1,188,200
4,886,000 3,701,000 1,185,000(01 Al &H|
oFELES NEANHC ot 2 EHZE S AHL=280m)
24 260,000,000& - JI& 190,000,000& = 70,000
O;%%% HAEXNAM RS WNF otx=2H A=0lS MM S AHBMH
A
438 35,000,000& x 14l - J|& 50,000,000& x 14 = A 15,000
cQAZ M A3 otx=2H B33 AH(L=250m)
250,000,000& x 14! = 250,000
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Mgt (124) == 2 : (401) Al&EHIS (&2« &)
| = 5 = =
ol —":T'c— | §|_|" &t = /| =
cEdlS 8t1el 8t ME$=ZAH(L=200m)
60,000,000& x 14! = 60,000
ocElS =412l ot=% MEX=Z2AH(L=160m)
40,000,000& x 14! = 40,000
oEdlS 0Otit2e] otx=% & X ZAH(L=160m)
40,000,000& x 14! = 40,000
oE=ELE YEXESW 2 ol4T IHE=Z2AHL=240m)
80,000,000& x 14! = 80,000
oxZC = 13&S AW atE== JHE L2 AH(L=300m)
90,000,000& x 14! = 90,000
o= = 328 AW ot== JHEZ=ZAHL=200m)
50,000,000& x 14! = 50,000
oS E ASELXNY 2UHMAIE Ul S A 100,000
- Al&d Z& 388,810,000& - J|& 288,810,000& x 14! = 100,000
oS H2HILEZE AXZ2A JI2 & AA EAHH
23 0& - JI& 100,000,000& x 14! = A 100,000




00) Xt= = & H| Kpo Mg (124) =2 2 : (401) Al&HIE cel o ®MH)
P =
oo < 2l At = v =
5 = Ao o
oL =S 308 AL BHz=IH& Z2 At 20,000,000 x 141 = 20,000
CEHAM A SABHEH =Y 2
28 08 - JI&E 250,000,000& x 14! = A 250,000
CEHME AU AN JE L AALH 29
850,000,000 x 14! = 850,000
UL DA (AR OIMECK) U Hj&&H &%
A& 50,000,000 x 14 - J|& 150,000,000& x 14! = A 100,000
13,193 9,993 3,200/03 Al&=20HY]|
oAl
AA 4,886,000,000& x0.27/100 - 2|& 3,701,000,000 3,200
x0.27/100 =
| 2HIE 42,750 39,750 3,000
405
INNEE 42,750 39,750 3,000
42,750 39,750 3,000(101 AHAFF S|
< DO/PH OIlED] ¢ 1,500,0008 x2=& = 3,000




(100) X=X & 8 1 (130) HIJotS &l Xtak Mg @ (131) A& SQIXHL £t (401) AIEHIS thel @ ®Y)
s L 3| 2 g ] ]
(=) =
A Y| X} A 20,307,023 | 20,656,023 A 349,000
Z QI A 9,129,023| 9,478,023  A349,000
401
A&HIS 9,129,023 9,478,023 A 349,000
8,645,000 8,994,000 A349,000(01 Al &H]
oclEot=HMal ¥ 0
- [=] Z&(1,979,000,000&) - J1&(2,216,000,000& ) = A 237,000
=] 23 (81,000,000&) - J1&(106,000,000&) = A 25,000
[AIl Z&(1,670,060,000&) - J1&(1,408,060,000&) = 262,000
o &ol. Jl Aot Hel = A 409,000
- [=] Z&(1,990,000,000&) - J1&(2,360,000,000&) = A 370,000
=] 2 & (158,000,000& ) - 21&(197,000,0009) = A 39,000
o Eoffot=2HE 2 AAEA EA(2H) £HIN
d4 ZE(VE) 84
60,000,000& x 14! = 60,000




i =2 J| | =) 3| _
- OH (= =
gpk"?:* = of <& o o & o = 24 oM &k = Il =
220
HesSHasz2 4,700,000 2,700,000 2,000,000
222
=2 2,000,000 0 2,000,000
601-01
area 2,000,000 2,000,000
2,000,000 0 2,000,000 2 XelAE0IHINSAISE X AE=2
2,000,000,000& = 2,000,000
800
Ol Bl bl 1,584,303 2,445,963 A 861,660
810
Ol Bl Bl 1,584,303 2,445,963 A 861,660
811
oll gl dl 1,584,303 2,445,963 A 861,660
1,584,303 2,445,963 AB861,660(=0lHIHl 2 & (1,584,303,0002) - JI&(2,445,963,000) = AN 861,660




